
���������� ��������� ��������5� �������5.1 ����������� ����������������� �� Ǒ����Ǒ�����-��� �Ǒ� �������� �� ��������� Ǒ����� (©¬¤â®� �)�� �§�¤�¥�«á©�¬£� «� � �� ¡�©å� §�¬ �¤�§«ç¥�£� ©«� §�¨á�� �£� ?? £� «¨æ§� é©«�¤� £§�¨â©�¬£� ¤� �¥��á��¬£� ©¬©«�£�« ¡á ©¬�¡�¡¨ £â¤� ©¬£§�¨á©£�«�. �¬£��¢ -©£æª: ë©«à In 2 Mn�n, � £�¤�� �å�ª «�«¨��à¤ ¡æª §å¤�¡�ª «á¥�ª n. �� ©¬£��¢å-��¬£� £� :1. Ln;f��ig «� ©«� ®� à�éª �¨�££� ©��ç¤�£� «�¬ «�¬«�« ¡�ç, In, §å¤�¡� §�¬ §¨�¡ç-§«�  £� �­�¨£��ã «�¬ 1.??, ��¢��ã, £� §�¢¢�§¢�© �©£æ «�ª i-�¨�££ãª «�¬ In £�«� £� £���¤ ¡æ �¨ �£æ �,2. Ln;fi;jg «� ©«� ®� à�éª �¨�££� ©��ç¤�£� «�¬ «�¬«�« ¡�ç, In, §å¤�¡� §�¬ §¨�-¡ç§«�  £� �­�¨£��ã «�¬ 2.??, ��¢��ã, £� �¤«�¢¢��ã «à¤ �¨�££é¤ i ¡�  j «�¬In,3. Ln;f��i+jg «� ©«� ®� à�éª �¨�££� ©��ç¤�£� «�¬ «�¬«�« ¡�ç, In, §å¤�¡� §�¬ §¨�-¡ç§«�  £� �­�¨£��ã «�¬ 3.??, ��¢��ã, £� §¨æ©��©� «�¬ � ¤�£â¤�¬ «�ª i-�¨�££ãª�§å � ©«� j-�¨�££ã «�¬ In.5.2 Ǒ�¨á�� �£�: �á�� ©«� ®� é��ª �¨�££� ©��¬¤�£å�, «�ª £�¨­ãª 1., 2., 3. «�¬�¨ ©£�ç ?? �¤« ©«� ®�å ©� §�¢¢�§¢�© �©£æ �§æ �¨ ©«�¨á £� â¤� �§æ «�¬ª § � §á¤à§å¤�¡�ª L�;f���+; �g «�ª £�¨­ãª 1., 2. ¡�  3. �¤«å©«� ®�.1. L3;f�7�2g0B� a1;1 � � � a1;ka2;1 � � � a2;ka3;1 � � � a3;k 1CA = 0B� 1 0 00 �7 00 0 1 1CA0B� a1;1 � � � a1;ka2;1 � � � a2;ka3;1 � � � a3;k 1CA= 0B� a1;1 � � � a1;k�7a2;1 � � � �7a2;ka3;1 � � � a3;k 1CA2. L4;f1;3g0BBB� a1;1 � � � a1;ka2;1 � � � a2;ka3;1 � � � a3;ka4;1 � � � a4;k 1CCCA = 0BBB� 0 0 1 00 1 0 01 0 0 00 0 0 1 1CCCA0BBB� a1;1 � � � a1;ka2;1 � � � a2;ka3;1 � � � a3;ka4;1 � � � a4;k 1CCCA= 0BBB� a3;1 � � � a3;ka2;1 � � � a2;ka1;1 � � � a1;ka4;1 � � � a4;k 1CCCA



3. L2;f��1+2g a1;1 � � � a1;ka2;1 � � � a2;k ! =  1 0� 1 ! a1;1 � � � a1;ka2;1 � � � a2;k !=  a1;1 � � � a1;k�a1;1 + a2;1 � � � �a1;k + a2;k !5.3 Ǒ�¨�«ã¨�©�: �¨�££ ¡á ©¬©«ã£�«� (¬§æ §¨�è§��â©� ª) ¡�  �ç¨�©� �¤«å©«¨�­�¬§å¤�¡� ­�å¤�«�  æ«  �å¤�  �ç� æ¯� ª «�¬ å� �¬ ¤�£å©£�«�ª.5.4 Ǒ�¨á�� �£�: ��à¨é §¨�ª �§å¢¬©� «� �¡æ¢�¬�� ©ç©«�£�:8><>: 2x + y = 63y + z = �14x � y = 12 9>=>; :�¤ A := 0B� 2 1 00 3 14 �1 0 1CA ; � §å¤�¡�ª «�¬ ©¬©«ã£�«�ª,X := 0B� xyz 1CA ; «� µ� á¤¬©£�¶ ��¤é©«à¤, ¡� C := 0B� 6�112 1CA ; «� µ� á¤¬©£�¶ ©«���¨é¤ æ¨à¤ «�¬ ©¬©«ã£�«�ª«æ«� «� § � §á¤à ©ç©«�£� �¨á­�«�  ©«� £�¨­ãAX = C;�§æ«� �¤ � �¤«å©«¨�­�ª §å¤�¡�ª «�¬A, A�1, ¬§á¨®�  ¡�  �å¤�  £� ¡á§� � «¨æ§� �¤à©«æª«æ«�, � ¢ç©� «�¬ ©¬©«ã£�«�ª �å¤�«�  �§æ â¤� �§¢æ §�¢¢�§¢�© �©£æ § ¤á¡à¤X = A�1 C:�«� §�¨á�� �£� �¬«æ, æ§àª �� ��ç£�,A�1 = 0B� 1=6 0 1=62=3 0 �1=3�2 1 1 1CA ;�§æ«� X = 0B� xyz 1CA = 0B� 1=6 0 1=62=3 0 �1=3�2 1 1 1CA0B� 6�112 1CA = 0B� 30�1 1CA :



5.5 �������� ���� ������ ����������� Ǒ������ �§ ©«é¤�¬£� æ« , ©¬®¤á, � �§å¢¬©� �¤æª �¨�££ ¡�ç ©¬©«ã£�«�ª, £�«�­¨�©£â¤�©«� �¢é©©� «à¤ § ¤á¡à¤, �¤« ©«� ®�å ©«�¤ �ç¨�©� �¤æª �¤«å©«¨�­�¬ §å¤�¡�. ��«'�¤�¢��å�,æ§àª ®¨�© £�§� ã©�£� «� £â���� Gau� � � «�¤ �§å¢¬©� �¨�££ ¡é¤ ©¬©«�£á«à¤, ��®¨�© £�§� ã©�¬£� �¨�££�ä©��¬¤�£å�ª, ã«�  «� £â���� Gau� ©«� �¢é©©� «à¤ § ¤á¡à¤,� � «�¤ �ç¨�©� �¤«å©«¨�­�¬ §å¤�¡�.Ǒ�¨á�� �£�: �¥�«á�à �¨® ¡á �¤ � §å¤�¡�ªA := 0B� 2 1 00 3 14 �1 0 1CA 2M3(R)�å¤�  �¨�££� ©��ç¤�£�ª £� «�¤ «�¬«�« ¡æ I3. �«� ©¬¤â®� � �¨å©¡à «�¤ �¤«å©«¨�­æ«�¬. A =========== 0B� 2 1 00 3 14 �1 0 1CA L2$L3�����!0B� 2 1 04 �1 00 3 1 1CA (�2)L1+L2�����! 0B� 2 1 00 �3 00 3 1 1CA L2+L3�����!0B� 2 1 00 �3 00 0 1 1CA (�1=3)L2�����! 0B� 2 1 00 1 00 0 1 1CA (�1)L2+L1�����!0B� 2 0 00 1 00 0 1 1CA (1=2)L1�����! 0B� 1 0 00 1 00 0 1 1CA ===========I3�­�¨£æ��¤«�ª «� ©¬£��¢ ©£æ «�ª §�¨��¨á­�¬ 5.1 ¡�  «� £â���� §�¬ �¤�§«ç¥�£� ©«�§�¨á�� �£� ?? �¢â§�¬£� æ« I3 = L3;f(1=2)�1gL3;f(�1)�2+1gL3;f(�1=3)�2gL3;f2+3gL3;f(�2)�1+2gL3;f2;3gA:�å¤�«�  ­�¤�¨æ, (á©¡�©�), æ« A�1 = L3;f(1=2)�1gL3;f(�1)�2+1gL3;f(�1=3)�2gL3;f2+3gL3;f(�2)�1+2gL3;f2;3g:�¥å��  ¤� ©�£� à��å, á©¡�©� æ«  ¡á�� â¤�ª �§æ «�¬ª ©«� ®� é�� ª §å¤�¡�ª L�;f���+; �g�å¤�  �¤« ©«¨â¯ £�ª, ����¤æª §�¬ �§��� ¡¤ç�  �¤�¢¢�¡« ¡á «�¤ �¤« ©«¨�¯ £æ«�«� «�¬§å¤�¡� A�1. �� å� � �¡¨ �éª �â£� �å®� ©¬��«���å ©«�¤ ?? £� «�¤ �¤« ©«¨�¯ £æ«�«�«�¬ §å¤�¡� J �¡�å.5.6 �� � �� ¡�©å� «�¬ § � §á¤à §�¨���å�£�«�ª 5.5 ¡à� ¡�§� �ç£� §¨�ª � �¬¡æ¢¬¤©�£� «�¤ �¡æ¢�¬�� «¨æ§�:



Ǒ�¨��â«�¬£� ��¥ á «�¬ §å¤�¡� A «�¤ «�¬«�« ¡æ, ��é «�¤ I3, ©' â¤� � �¬¨¬£â¤� §å¤�¡�3 � 6. �«�¤ � �¬¨¬£â¤� §å¤�¡� §¢â�¤ �­�¨£æ��¬£� «�¤ § � §á¤à ©� ¨á �¨�££� ©��¬-¤�£ é¤ é©«� ¤� ¡�«�¢ã¥�¬£� ©� â¤� 3 � 6 §å¤�¡� � �§�å�ª �� â®�  ©«� �â©� «�¬ A«�¤ «�¬«�« ¡æ. � �¨�££� ©��ç¤�£�ª «�¬ «�¬«�« ¡�ç §�¬ �¨å©¡�«�  ��¥ á «�¬ �å¤�  ��¤«å©«¨�­�ª «�¬ A. �¬�¡�¡¨ £â¤�, ©«� § � §á¤à §�¨á�� �£�� A I3 � = 0B� 2 1 0 1 0 00 3 1 0 1 04 �1 0 0 0 1 1CA L2$L3�����!0B� 2 1 0 1 0 04 �1 0 0 0 10 3 1 0 1 0 1CA (�2)L1+L2�����!0B� 2 1 0 1 0 00 �3 0 �2 0 10 3 1 0 1 0 1CA L2+L3�����!0B� 2 1 0 1 0 00 �3 0 �2 0 10 0 1 �2 1 1 1CA (�1=3)L2�����!0B� 2 1 0 1 0 00 1 0 2=3 0 �1=30 0 1 �2 1 1 1CA (�1)L2+L1�����!0B� 2 0 0 1=3 0 1=30 1 0 2=3 0 �1=30 0 1 �2 1 1 1CA (1=2)L1�����!0B� 1 0 0 1=6 0 1=60 1 0 2=3 0 �1=30 0 1 �2 1 1 1CA = � I3 A�1 � :


